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8: BEIR
1)B: 4 F & F; Sig3dinig, 258y E
A, RRERTORFE IR B-F, 5KE,

4 BF, + 3 H,0 == 3 HBF, + H,BO,

3 SiF, +4 H,0 ==2 H,SiF, + H,Si0,]|
CF,vC: % R8ET&K, AATY i
2) Si0, + H,0 +CO, == H,Si0,] + CO,*
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)SIEZHRTHE5ZEARELE I8 BEH RSIC
FaM SiFL Y, RGHMEAEFRE;
BE5 2 &R EHBRAMLY, Kk,
4) SifE EAL B F A SI0, CRAETB), B
& & Ak 12Si0, T 5 F Bk X HF .
Si + 2 NaOH+ H,O == Na,Si0; + 2H,1
3Si+4 HNO,+18 HF

==3 H,SiF, + 4 NO1 + 8 H,O



13 (1) Ba?* + CO,;> ==BaCO,! (FRKfR)
(2) 2Fe3*+3CO,% + 3H,0 ==2 Fe(OH),4+CO,T
KK (Cr/AP F 368 & F)
(3) 2Cu**+2CO,>+H,0 (3 9 7K f2)
== Cu,(OH),CO,} +CO,T
(4) 2Pb**+2CO,>+H,0 (34 7KAR)
== Pb,(OH),CO,J +CO,T



14: CO;> + H,0 == HCO; + OH" (R # & % — B KM)

o K, 1.0x1071* 4
Kh_K_2_5.61X10_11=1.78X10

FECO KX 3| 48, &+ [OH]=x mol-L!

xZ

=1.78 x 10~%
(0.10 — x) 8x10

7 & #[OH]=4.13 X 10 >mol-L!
(1) s FAPY, J=[AP]x[OH]?=0.10 x (4.13 x 1073)3
=7.04 x 10~° > K, (AI(OH);) AI(OH),%. i |



14: %% ¥[OH]=4.13 X 10 3mol-L"!

(2) Ca?", J,=[Ca*'|x[CO;*]=0.10 x (0.10-4.13 x 10~3)
=9.59x10 > K, (CaCO;) CaCO,ix i !

J,= [Ca*"|x[OH]? =0.10 x (4.13 x 1073)2=1.71x10° <
K, (Ca(OH),) Ca(OH),Rif it !

(3) Pb%*, J,= [Pb**]x[CO;2]=0.10 x (0.10-4.13 x 10~3)
= 9.59x10” > K2(PbCO;) PbCO;i i !

J,= [Pb?]x[OH]?> =0.10 x (4.13 x 1073)2=1.71x10-6 >
Ko(Pb(OH),) Pb(OH),itiz! ¥4 A Pby(OH),CO;



19: R HG B~
1) 2Cu(NO,),==2CuO + 4NO,T + 0,7
2) NH,NO, 8 #h 9B A B I, RBEZ W R,
(a) NH,NO, ==N,0T+ 2 H,0;
(b) 2 NH,NO, ==2 N, T+0,T+4H,0
(c) 4 NH,NO, == 3N, T + 2NO, T + 8H,0
3) (NH,),Cr,0,==N,T+4 H,0+Cr,0,
4) 2Na,HPO, ==Na,P,0, (£ % # ) + H,O
5) 2NaH,PO, == Na,H,P,0, + H,0 (169 °C)
= NaPO,; (m# B8 3) (240 °C)
6) 2 NaN,==2 Na + 3 N,T




24: NO,+ 4H™+3e ==NOT+2H,0 E’=0.96V
Audt+ 3e == Au E°=1.498 V
AuCl;+3e==Au+4Cl- E’=1.000V
@ ARA AL H R HAuEHNO; & K
BB 6 AR W3 #e
s+ #%, E"=0.96 — 1.498 = —0.538<—0.20 V,
B R AR B R AT ;
stFEE, E°=0.96 —1.000=—0.04 V,
GRETREE TR M N REEZILE Zo




4 A HCLA £ 1
Au + NO; +4H" + 4CI' == Au(Cl, + NO + 2H,0

(P
AuCl NG
00592, LAUCL ﬁ)

E=E’ g . B
3 [INO; J[H " J'[CI™]

A EKP, [HCI=9 mol-L-1; [HNO;]= 4 mol-L-!
& Pno= 100 kPa, [AuCl,] =1 mol-L-!

0.0592 1x1
[s Aralé
3 4 x[13]"[9]
=0.135(V) 3

E = (-0.04) -




L HAHCLAE /L 8T
Au + NO; +4H" + 4CI' == Au(Cl, + NO + 2H,0

[AuCI, ](Pre)

_0.0592, -

E=E" 0 . .
3 [NO; ][H ' T'[CI'T’

WA T A, %R R AR, RIKH
[CI] = 3.22 mol- L' (fR3& e # ) F 47 4)



